oooooooo

goooodotdbtobooboboogbouogod

1 00

ooooooobooDbOoobDOooDbOoboOooogon
ooooOooooOooooooOooooboobOoOooooog
ooooooooboooobobooooooboooobooog
0000000000000 (o000 D00D000ooo
ooboboooobooooooooooobooooobooooa
oooooooboooooooooooboooooood
ooooooooOoooOobooooobobocOoboOoooooa
ooobDoo0ooOo0ooboOo0oooooooon

2 JObOOoooo

ooooo0ooO0oo0ooOoDoooooooogo
oo ooooo
gododddooooooooooooo
p(k)
S = J[2%) 12871, 0 <k < ymax. (1)
i=1
ggooooobobobobbbbotbdoooooobooboobo
ooooo0o0ooooooooogogooooo
gooooOoOoOooOoOooOooooOooDoODOODOO
Od000d0oodooooo 300040o0o04d S,S,,83
OO00o00oD0o0oo0ooUooU0DoOooUoUoooooo
gobobooobobooboboobboboobooon
o000 2000000000000 300000000
00o000l1goooooodooooooooooooa
00010000 100000000 2000000ad
O000U00oooo 3000oooo eocboOoUooooOon
volume intersection [2]0000000000000DODO
Volume intersection 00000000000 0OOCOOO
gboboobooboboobuobooboobooon
OO0O000D00O0O0000O0O Volume intersection OO
gooooOoopooooooOOoOOOOOOOOOOODO
goooooboboobobboobboboooooooooooo
000000 volume intersection 000 O0O00OOOO
gdddooooooobobobobbboboooboboboo
OOOC0OCOOoOoOoOoOoOoOoDOooDoDOvolume intersection
000000O00o0DO0oDO0oo00oo0oooboOooooD 6
dddddOdoOo3doooooooooooooooon
gooooooooo

f: 50800100000,

0000000 66206 OO OO
oooo:00og oo
o0 200 20 40

: 0 - 0 -
256 (px) 256 (px) 380 (px)

(a) (b) (c)
01 DooOoOoooooooooooo

¢: S0 8500100000,
d: Ss00100000000.

0 O O Ovolume intersection 0000000000000
00000000 (U,¢,d)00000000000000

0000000000000000000000000
0000000000 3000000000000000
(0,¢,d) 00000000000

3 o000 O0O0ODODOdODODO

0oooo (0,¢6,d)000000O00OO0OOOOODOO
oooo(,¢,d) 00000000000 ODOOODOODO
0000000000000 000000006,¢ 000
000000000 d000O000Doooooooooo
coooooooon

0o00000: 00000 e,e0000d0O0OOOO
oooooooooooon

00:2D00000 Sy,8s,83, 6,0

00:00000000000d000

ooo:

1. k=0,...,ymax 0000000 k00000
0000004000 D(k)0000D0

Ymax

2. D= () D(k)D0ODDODDO
k=0
3. DOOODOO

goboboooooboooooocoooooooooo
o000 1000000 20000

4 DOODOODO

(0,¢)000000000000000dOO0D000
0000000000000000000000d000
00000 (6,¢) 00000000(0,¢) 0000 d0D0
00 D(W,¢) 000000000



(px) D (px)
256 =

-150 ()
(@ (0,¢) = (60°,60°)

(b) (6,¢) = (45°,45°)

0 (px -1
() (6,6) = (30°30°)

50 0 (px)
(d) (6,6) = (30°,45°)

02 6,00000000d0O0O0O DO

41 000
ooooooobooboboobobooboboooboogoon
00D,¢) 00000000 DOODOOOOOODOOD
000 400000000000DDDODODODO 0,900
ocoooooooooooooooOoo 1opboooDooo
ooooooo 1°000o0
42 0O00OO0OOOOOOOO
gobooooooOoocoobooobooOoooooOoooon
ooobooooooooooooooooboooooog
ctooboooooooobooooooooooa
gobooo0o:- 00000000000

00:2D00000 Sy,82,5, 000 (g, ¢o), O

00oooood hy

oQ0: 6,0,

ooO:

1. 00000 A=1°0000

2. bhow O 600 ¢now O ¢o DO DO DODODO

3. (buow Pnow)s  (Bnow — P dnow), (bnow +
by now)s (Bnows Pnow — h); (fnow, Pnow + h)
0500000000000000000

4. 00000 buow, dnow) 1000000000
00000000k« 2000000000
0000 (Bpow, bnow) 00000000000
00000000 (0,¢) 0000 (Anow, Prow)
00ooQ

5. hO hy 0000000 (bnow, Pnow) 1000
00000000000 D000 3. 0000

0000000000000000000000000
00000000000 30000000000000
000000000000flled00000000 0O filled
00000000000006,¢000000000d0
000000 dmax 0000 dpin 00000000000
0oooooooo

f (07 QS) = dmax - dmin (2)

O0000oO00oOoOoOooooOooofiledd0ooOoOO

(a) (b)

03 (0000000 S(k)O (b)filedDDDDODO S'(k)O

¢

360°

/
S S

4

/

180° 360° 6

/
/

04 00O0O0O06,¢0000

00000000000000000000000000
00000000000000(,¢)0 filled0OOOO
0000000000000000000000000
00000000000000000000000000
00000000000000000000000000
000000000000000000

0 40000000000000000000000
000000000 1000000000000000
000000D00000000(6,¢) = (30i°,305°)(i,j =
1,...,11)0 121000000000000000 0.2°
00000000000 (2)0000000000000
0000000000000000000 filled0OOO
000000000000121000000000880
0000000000000000

gooo

[1] A. Bottino and A. Laurentini, “Introducing a new
problem: Shape-from-silhouette when the relative
positions of the viewpoints is unknown.” IEFEE
Trans. Pattern Analysis and Machine Intelligence,
vol. 25, pp. 1484-1493, 2003.

[2] A. K. Pujari, “Volume intersection for shape from
silhouette.” Sadhana, vol. 18, pp. 325-336, 1993.



